Echec & Mat junior 135 - Solutions

Parcours du Pion

(1) 1.¥g7#
(2) 1. %e1#
(3) 1.Wrg7#
(4) 1.22h6#
(5) 1...g1%#
(6) 1.2d7#

Parcours du Cavalier

(1) 1.8xg6+ £xg6 2.Wixe7+

(2) 1...8h2+ 2.coxh2 Wixf2

(3) 1...Exa2 et si 2.8xa2 Bd1#

(4) 1.8xe7 oxe7 2.)xf5+

(5) 1.2a1 ¥ic5 [1...Wxa1 2.2f8#] 2.2a7+ ¥Wxa7 3.2f8#
(6) 1...2b4 et si 2.8xb4 f1H

Parcours du Fou

(1) 1.¥db7+ a3 2.Wcad#

(2) 1.f7+ &h8 2.Wh5#

(3) 1...e4+ 2.cbxf4 g5#

(4) 1.8f7 Bxcd [1...5)c7 2.8974#] 2.Eg8#
(5) 1...8h1+ 2.cbxg3 We5#

(6) 1.2e4+ Rc5 2.2e3#



Parcours de la Tour

(1) 1.2c8+ ¥xc8 [1...40e8 31.5xe7+] 2.DxeT#

(2) 1.2b6 Exb6 [1...2a3 2.8b5+] 2.e4#

(3) 1...Bixf5+ 2.8xf5 [2.2h2 Wc2+ 3.9h3 Whg2#] 2...Wh1#
(4) 1.9xc6 Exc6 2.8d8+ the7 3.21d7#

(5) 1.52xd6 Exd6 2.8g7+ h8 3.2xg6+

(6) 1.¥xd5 cxd5 2.5xc8 Web [2...5xc8 3.9e7+] 3.2h6+ ¥xh6 4.Exe8+
2f8 5.2xb8

Parcours de la Dame

(1) 1...Bxf5 2.Wixf5 Bf8 3.Wixg5 Exf3 4.gxf3 Wh2#

(2) 1.22c7+ Bxc7 [1...&xc7 58.¥g8#] 2.We6+ 2d8 3.2g8+ 218 4.Bxf8#
(3) 1.8xb3 ¥xb3 2.5xc5 Wb6 3.)d7#

(4) 1...2xh3 2.£xh3 Hg2+ 3.52h1 ¥xh3+

(5) 1...8xg3 2.sbxg3 W2+ 3.8h2 [3.5g4 Wha#] 3...g1%#

(6) 1.0g7+ £xg7 [1...52d8 2.5)xe6+] 2.Exe6+ 2d8 3.2e7+ he8 4.2d6+
&d8 5.8xc7+



